
 
1. Facilitator will show a number. 

2. You will write down your theory and predict what the next number will be.  

3. The goal is for you to identify the rule. 

4. Each round you have to make 1 of 3 choices: 

A. Continue to develop your change idea and run another test (cost = $3,000); or 

B. Test your change idea and identify the next number (reward if correct = $4,000; cost if 

incorrect = $8,000); or 

C. Implement the change and state the sequence rule (reward if correct = $20,000; cost if 
incorrect = $30,000). 

 

Cycle Theory Sequence Correct/Incorrect 
Bank 

(Start with $30,000) 
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